itistrueﬂlla’rot erwise a F in the

bracket
(@) ( )Foranyrezularhnsuaseshglqg-nf_:L,.g---.Mchem
wn;f"lfnisalsotegmm.

(b) ( )IfAis regular and both of B and AN B are non-regular, then AU B is
non-regular,

(¢) () Let Dop, = {“M"|M is a DFA, “M” ¢ L(M)}, then Dora is not regular,
but recursive, where “M” is the encoding of DFA M, just as Turing Machine.
(d) () The language {a'¥c*|i,j,k €N, and k # i+ j} is context-free.
(' " A r_egmgs\l:vely em*mqmblg and B is regular, then AN B nsrecuﬂ
i rsively enumerable language. If both AU B and
then A and B are recursive.

). Suppose A<, B,
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© Ly = {uvuiu € {a,b", and v € {08}

(©) Ly = {wvuRlu € {a,b}*, and v € {a,b}*}.

ON PDA AND CONTEXT-FREE LANGUAGES
{zzPyyPle,y € {a,b}*, || is 0dd, and bba is & substring of xY

truct a context-free grammar that generates the language Ly
& pushdown automata that accepts Lg.
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ing machine that decides the following language:
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